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THM 348 Service Operations Management
Midterm Exam Answer Sheet
1. Compare Business-to-Customer (B2C) with Business-to-Business (B2B) services. Provide 1 example for each of those very different type of services.  (2 Points)
While Business-to-Customer service creates added value by engaging and connecting with the customer is a personal and memorable way, Business-to-Business service focuses on the coproduction or collaboration between service provider and the customer.

Some examples for B2C services could be Disneyland, Forum Shops in Las Vegas, O’Hare Airport parking Garage…

Some examples for B2B services could be consultancy services, Fast Food Industry, Self-payment in Gasoline stations…
2. What implications service operations managers may have when considering the “Intangibility” characteristic of services? (2 Points)
Some implications that service operations managers may have when considering the intangibility characteristic of a service are as follows:

· Need for creative advertising
· No patent protection
· Importance of reputation 
3. Can a “Server Winner” become a “Service Qualifier” through time? If the answer is yes, provide 1 example illustrating that. (2 Points)
Yes, service winner could become a service qualifier through time. For example, while airbags were service winners for car companies in the past, nowadays all car companies have to offer this feature. Therefore, airbags are no more service winners but service qualifiers. 

4. How does intellectual property rights protect a service brand? (2 Points)
Intellectual property rights deprives other companies to imitate / steal companies’ inventions, literary and artistic works, symbols, names, images and designs used in commerce. This way, intellectual property owners could protect its service brand and create a monopolistic situation to reap profit for a period of time as an incentive for the creative activity and payment of costs associated with research and development.
5. How the elements of the service profit chain lead to revenue growth and profitability? (2 Points)
1. Internal quality (Workplace design, job design / decision making latitude / selection and development / rewards and recognitions / information and communication / adequate tools to serve customers) drives employee satisfaction.

2. Employee satisfaction drives retention and productivity.

3. Employee retention and productivity drive service value.

4. Service value drives customer satisfaction.

5. Customer satisfaction drives customer loyalty.

6. Customer loyalty drives profitability and growth. 
6. What is the aim of “Service Recovery”? In the same framework, contrast “Systematic-response” to “Substitute-service recovery” approaches. (2 Points)

The aim of service recovery is to convert a previously dissatisfied customer into a loyal one.
While systematic-response approach refers to using a protocol to handle customer complaints, substitute-service recovery approach refers to capitalizing on the failure of a rival to win the competitor’s customer.

Good Luck
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